Stoichiometry problems from words #4
Name ___________________________________
Show all of your work
__________ 1. What is the mass of sodium chloride when 2.0 grams of copper II chloride react with excess sodium carbonate solution?

__________ 2. What is the mass of lead II chloride if 4.5 grams of copper II chloride react with lead II nitrate solution in excess?

__________ 3. What is the mass of sodium sulfate if 3.9 gram of iron II sulfate react with a sodium hydroxide solution in excess?

__________ 4. What is the mass of barium sulfate formed when 8.7 grams of zinc sulfate react with excess barium chloride solution?

__________ 5. What is the mass of the silver sulfate formed when 2.7 grams of sulfur nitrate react with an excess potassium sulfate solution?

__________ 6. What is the mass of the calcium carbonate formed with 5.8 grams of ammonium carbonate is added to an excess amount of calcium chloride solution?

__________ 7. What is the mass of the copper II hydroxide produced when 2.5 grams of copper II nitrate added to excess sodium hydroxide solution?

__________ 8. What is the mass of the barium sulfate produced when 62.4 grams of aluminum sulfate is added to an excess amount of barium chloride solution?

__________ 9. What is the mass of the barium sulfide produced if 88.5 grams of sodium sulfide is added to an excess solution of barium nitrate?

__________ 10. What is the mass of the calcium sulfate produced when 12.5 g of calcium chloride is added to an excess solution of sodium sulfate?

__________ 11.  A 5.0 g sample of zinc reacts with excess copper II sulfate.  What is the mass of the copper produced if there is an 85 % yield?

__________ 12. A 5.0 g sample of zinc ore that is 85 % pure reacts with excess copper II sulfate.  What is the mass of the copper produced?

__________ 13. A 13.85 gram sample of pure zinc reacts  with excess copper II sulfate to produce 10.08 g of zinc sulfate.  What is the percent yield of the zinc sulfate?

__________ 14. A 3.0 g sample of sodium chlorate is heated.  The container showed a weight loss of 0.85 g.  Find the percent of the original sodium chlorate that has decomposed.

__________ 15. Titanium IV oxide is a white substance produced by the reaction of sulfuric acid on the mineral ilmenite.  (FeTiO3)

FeTiO3   +  H2SO4   →  TiO2  +  FeSO4  +  H2O

It is opaque and nontoxic properties make it suitable as a pigment in plastics and paints.  In one process, 8.00 x 103 kg of FeTiO3 produced 3.67 x 103 kg of TiO2.  What is the percent yield of the reaction? 

